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Model Set

Time :- 3 Hours 15 minutes Full Mark - 70
T ;3 He 15 e BIOLOGY (sfia fasm) ot — 70

ghenrfelalt & fore [A3or —

Instructions for the candidates :-

1. e} JUTHYT U gl H B SR < |

Candidates are required to give answers in their own words as
far as practicable.

2. <R ol TRE W RY gy sie wie MRk o §
Figures in the right hand margin indicate full marks.

3. 9 YT UF DI SFYdd UgH b oy 15 e @1 sffaRed wwg faan

TAT B |
15 minutes of extra time has been allotted for the candidates to
read the questions carefully.
4. I8 YTI—UA QI WSl § B, WUS—3I Ud TUs—9 |
This question paper has two sections: Section-A and Section-B.
5. GUS—3 H 42 RIS U €, 39 42 YAl H I (Bl 35 YTl B IR
1 AR 7| wRiened gRT 35 W Qf¥d Ul & SR QU I @

Rerfd § H¥[ex §RT YA 35 UTAI BT &1 HATH [hdT ST |



e Y9 b forv 1 3k MuiRd 8 s9a1 SR Sudel R
OMR-3TR Uxd ¥ U T el g Dl BIal /Al dfcd U I 91 |

fFfl N UPR & IFESR/TRaA U /fe /G 3N & IR

GRPT H YT HRAT F1 &, =gl UXel aRumd 3= 8 |

In Section-A, there are 35 objective type questions, out of which
any 35 questions have to be answered. In case more than 35
questions are answered, the the first 35 answers will be
evaluated. Each questions carries 1 mark. Darken the circle with
blue/black ball pen against the correct option on OMR-Answer
Sheet provided to you. Do not use Whitener/Liquid/Blade/Nalil

etc. on OMR Sheet; otherwise the result will be invalid.

Gus—g H 18 TYSTRIY U B, FoH ¥ b8l 10 Ul & SR <
JIfaRt 2| ue ued @ foy 2 ofw FiRa © )| 3w sfafRed @vs—3
H 06 < TG g W fay U €, fH @ Bl 3yl & IR <l
affvrard & | UR% U & fofg 05 3 MeiRd 2 |

In Section-B, there are 18 Short answer type questions, out of
which any 10 questions are to be answered, each question
carries 2 marks. Apart from this, there are 6 Long answer type
questions, out of which any 3 of them are to be answered. Each
question carries 5 marks.

Pl dRE & Soldgii-ih IYDRYT B SKIATA goiadr afoid = |

Use of any electronic appliances is strictly prohibited.




Yus—3 / Section —A

(axqfIs_9¥) /Objective Type Questions

U AT 1 ¥ 42 Tb GRS U €| 399 9 Bl 35 Ul B SR ol
AR & | U6 U & g 1 3 MiRT | U¥% U & | IR fadey Iy
U 8, 7 9 U WEl 81 U gRT g Y el fdbed ol OMR—STR 3ld WR
fRrfed &V |

Question No.- 1 to 42 are Objective Type Questions, out of which any
35 questions have to be answered. Each question carries 1 mark. There

are four options provided with each question, only one is correct. You have

to mark your selected option on the OMR-Sheet.

1, 3MIARIh g # del & w=T fa gl 2 ?
A 4 B. 16
C. 32 D. 64

How many codons are present in Genetic code ?

A 4 B. 16
C. 32 D. 64

2. qrg qre] H JUSId Bl URT &R drelT BHE @i & ?
A o B. o=

C. T T= D. t% Tq U=



Ovulation in female (human) is induced by which hormone?

A. Estrogen B. Progesterone

C.L.H. D.FSH

YUIHTY &l IART i § fead gl § ?

A. TSI | B. SISO 4
C. TR | D. W7 Aferdl |

Embryosac is originated from which of the following structure?

A. Microspore B. Microsporangium

C. Megaspore D. Pollen tube

Ted & foy S 9§ & Wi SUgad © ?

A. TRIRIR B. d%c wdic
C. 3 Taf 38 TH U D. |f3¥ed wifc
Which one is applicable for screening test of AIDS ?

A. PCR B. Western blot

C. ELISA D. Southern blot

[N LN

frifehd 19 Tolgd W1 91 TR ddb-ild d SddTel BIdT 27

A diciERST B. galldo
C. TP Ul D. ®R—UGgH

Which type of Enzyme is used in PCR technology?



A. Polymerase B. Helicase

C. Taq Polymerase D. Core Enzyme

SI T T SABTY HT AR T 8 2

A. FTESISHT &R 1A H Ffe B. a1 hH H IgHUd]

C. gy fgior D. 78 & @i

The basis of DNA finger printing is -

A. Error in base sequence B. Polymorphism in sequence
C. DNA replication D. All of these

Sl BT REIAR UH a1 TR A g ¥ foha=r gfeerd gar 2 ?
A. 5% B. 10%
C. 15% D. 20%

The percentage of energy transferred from one trophic level to

another is -
A. 5% B. 10%
C. 15% D. 20%

STaTT] Ud wad T B § 2
A. STHTET B. fgdiae SuvTaT
C. 3Uee® D. 9% 9 94

Bacteria and Fungi are -



10.

1.

A. Consumer B. Secondary consumer

C. Decomposers D. All of these

NI, 398 T T ST 8] PRl & 7
A HigF B. 3ifa=iIo

C. Bl SIS S D. SIS Aobhlss
Methanogens do not produce

A. Methane B. Oxygen

C. Carbon dioxide D. Hydrogen sulphide

f=ifea & Arseor ik @iF © ?

A. JerlreraT B. U@ aer i
C. IR D. s & &1
Which of the following is a nitrogen fixer?

A. Ulothrix B. Anabaena and Nostoc

C. Paramoecium D. All of these

2n + 1 97 2n + 2 & RAfY R By & 7

A. IREIOT B. twRagyfordr

C. el AT B D. 379 & ®ig 8l
Conditions of 2n + 1 and 2n + 2 are called as -

A. Aneuploidy B. Allopolypoidy



12.

13.

14.

C. Both Aand B D. None of these

S UF U R ORI A0 & R I &7 Yo gl © 2

A. SIS &R Siiel &7 faeiiod g &
B. ASEISHI &R ST SedT 7 |

C. U3 SR §9aT & |

D. s | &+l

Effect of ultraviolet rays on DNA is -

A. Deletion of base pair B. Addition of base pair

C. Formation of thymine dimer D. All of these

79 & foiT—FeiRer &1 dR& DI 27

A. X- TR B. Y- UL
C.<H= Ader B D. 394 | &g 781

Which one is sex-determination factor in humans ?

A. X- chromosome B. Y-chromosome

C. Both Aand B D. None of these

NPT T BTl & UrAT SH drell Siared gefy ofr?

A. RIS BTe B. SraifroNg Bral

C. Brefyie & D. &R &1l

Fossil bird Archaeopteryx evolved during which period ?

A. Jurassic period B. Carboniferous period



15.

16.

17.

C. Triassic period D. Cretaceous period

Sigall dem Wi & " HASl B DI &7

A. S B. fawry

C. el D. 3riar

Which one is the connecting link between animal and plant?
A. Bacteria B. Viruses

C. Euglena D. Amoeba

oRed fdsaant faevar &7

A. S B. gIggl
C.Ir< D. gl B @2 C

Gemmules are specialization of which of the following?

A. Sponges B. Hydra
C. Yeast D. BothB and C
foo dien & s & foru 9o J1eas Savys §

A. 3ard B. STI®IgCH
C. cRSMwIZe D. g% & 9

In which plant, water medium is necessary for fertilization?

A. Algae B. Bryophytes



18.

19.

20.

C. Pteridophytes D. All of these

g ATeT Sig § A% TP Tl Bl © ?

A T B. 0
C. A= DERCRUIN

In which female animal, oestrus cycle does not occur ?

A. Cow B. Dog

C. Humans D. Rabbit

3USIY] & PIRIBI G H PIA—HT FFAT T8l Il o7

A JTgaITH B. Tfestl &1

C. I D. Arcroifvgar

Which organelle is not present in the cytoplasm of ovum ?
A. Ribosome B. Golgi complex

C. Centrosome D. Mitochondria

2T Ufored g f9aY &1 7 99 © 7

A. Rrwferd B. R
C. &ftd D. & =T

Treponema pallidum is a causal organism of which disease?

A. Syphilis B. Gonorrhoea

C. Herpes D. Tuberculosis



21.

22.

23.

24,

TYC-q frifdhd foa ok U4 ¢ # urm Sirar 8 2
A JgEINIHS 3R T U B. WaIAIE®d 3R UF U
C. TIIANTT 3R T T D. 9% & 94

TYC- Loop is found in which of the following RNA?
A. r-RNA B. m-RNA

C. t-RNA D. All of these

Hferere &1 fhar & fodg USIgH &Y SMagdhdr Bl 87

o O\

A. SITaT gielio—| B. SIvAT dieiaNai—ll|

C. gellaot D. 3R U U Ulel o
Which enzyme is required in the process of transcription ?

A. DNA Polymerase-| B. DNA Polymerase-ll|

C. Helicase D. RNA Polymerase
dIct dAT Ul & U9 fhd dRE & 3T HedAd & °

A. FHTT 31T B. 39T 31T

C. 31y 3T D. 395 ¥ @13 &l

Wings of insects and birds are known as -

A. Homologous organ B. Analogous organ

C. Vestigial organ D. None of these

AR AR el BT IaTexvl fifhd # i 2 ?

10



25.

26.

A ¢ B. AT
C. g1 A 92T B D. 3/Red

Which of the following is an example of desert adaptation ?

A. Camel B. Opuntia
C.BothAand B D. Cuscuta

1 A o AfT e e & s & forw fear Sar 27
A. TsH B. &g faArl

C. 9a® D. TSTTS
BCG vaccine is introduced to prevent against which of the
following disease?

A. AIDS B. Tuberculosis
C. Chicken Pox D. Typhoid

fa=ferRaa & XS fIURT &1 I0ToHd B 87

A. Sirarg B. farsmog
C. TSl D. 9% 9 A @2 C

Rabies disease is caused by which causal organism in the
followings?

A. Bacteria B. Virus

C. Protozoa D.BothAand C

11



27.

28.

29.

f=ifhd o B9 o™i dHRY & ?
A. B12fl Ui B. errerRafaan
C. Hrarefar b D. &ftw

Which disease in the following is a autoimmune disease?

A. Elephantiasis B. Thalassemia

C. Myasthenia gravis D. Herpes

AR I H B A1 ¢ S © 7

A. TSI B. Brsclsd R=ees

C. oo D. 379 & 9w

Which transgene is present in Golden Rice?

A. Nitrogenase B. Phytoene Synthase
C. Ligase D. All of these

1. 1. S am B § 2

A. 3id: IR fafte

B. a18a dIRam fafts

C. 3id: DI fheee uicH
D. 9180 dI¥®™ foed= uIcH
What is BT toxin?

A. Intra cellular lipid

B. Extra cellular lipid

12



30.

31.

32.

C. Intra cellular crystalline protein

D. Extra cellular crystalline protein

fFifhd B9 woell @l faqeh garfa & ?

A. Tael B. Ig

C. WiR D. &7 & B¢
Which of the following is exotic variety of fish?

A. Catla B. Rohu

C. Magur D. None of these

IEI—AT HRETI BT IGIERVT DI g ?
A. IS [T B. urfvr S
C. i A T B D. uiRRerfas =

An example of Ex-situ conservation is -

A. Botanical garden B. Zoological garden
C.BothAand B D. Ecosystem

Ui # a9 1fte Hw fifed fea wefer a1 &7
A. JrgRESIRl ® B. @Il &
C. uferi & D. geroial &

Which of the following have the highest number of species in

nature?

13



33.

34.

35.

A. Angiosperms B. Insects
C. Birds D. Microbes

JAdreuwd Wi & foly II8g—IeI™ IRVl &7 UHh ISR HiF 8°?
A IR S B. feA®RNI aiRkRefor
C. Qi Ja dsd D. g faer

An example of the ex-situ conservation method for endangered

species is -
A. National Park B. Cryopreservation
C. Biosphere reserve D. Wildlife sanctuary

fr=ifea & urenfire Scre oI 27
A. IR B. ToldR daR
C. S U9 %l D. 9% 9 94

Which of the following is product of biotechnology?

A. Humulin B. Flavr savr

C. G M Crops D. All of these

o

TR aRTe Afviar frifed # o &7

A. SIRBRT Brars B. wdfdeRam caffmRiayg
C. JsMH Wi D. s¥fio gacTgforyd

Natural genetic engineer in the following is -

14



36.

37.

38.

A. Escherichia coli B. Agrobacterium tumefaciens

C. Pseudomonas species D. Bacillus subtilis
gl & forg wRfera &= feifea d @af € ?

A. T UgfIER B. URIR ugfasr
C. Ryeliurer uglfdesR D. s° & &1

Which one is protected area for elephants?
A. Palamau Sanctuary B. Periyar Sanctuary

C. Simlipal Sanctuary D. All of these
AT g7 R aTel Ugua frifhd | ®I9 7 ?

A. TP SIEIAHNSS B. &4 SIS 3TdTSS
C. HEA 911 ATRITSS D. 3949 9 9

Which pollutant is responsible for Acid rain?
A. SO, B. CO,

C.CO D. All of these
P Bre (B8R =R) I @r ! 87

A. 3reRad fafdRor B. WRTST=T fafdRor
C. <l A @2 B D. 7T favol

Green house gases absorb which of the following ?

A. Infrared radiations B. Ultraviolet radiations

15



39.

40.

41.

C.BothAand B D. Y-ray radiation
S H MR T Ugue fRifed § B § ?

A. Fad B. smifi®

C. <l A 2 B D. BRIBRA

Which of the following is a heavy metal water pollutants?

A. Nickel B. Arsenic

C. Both Aand B D. Phosphorus
afssral &1 Frifdd | 9 JHAH ugandr g 2

A. O T TF B. "iRIgS

C. <l A 2 B DREACE ISIMECIC IR

Which of the following is harmful for vegetavbles?

A. PAN B. Fluoride

C.BothAand B D. CO,
Reotfdas &1 919 war I 8T 287

A. 3R] B. ®Rud <gfcam
C. gl A <o B D. i

Relaxin is secreted by -
A. Placenta B. Corpus luteum

C. Both Aand B D. Ovum

16



42.

ST fhad wrifad 8idr g ?
A. WRT H
C. ey H

Ovulation takes place in -

A. Placenta

C. Ovary

17

B. 144 feA

D. gl B g1 C

B. About 14" day

D. BothB and C



Yuvs—9 / Section-B

Iv—awgfss 439 /Non-Objective Type Questions

o AT 939 / Short Answer Type Questions

U W 1 W 18 d% oY SoNid WA 21 3 9 Bl 10 Ul & SR o

At & | U U9 & forv 2 3f AeiRa & | 99T S<x 31feihdd 50 ¥l H < |

10x2=20

Question no. 1 to 18 are Short answer type questions. Answer any 10
question. Each question carries 2 marks. Give your answer in about 50

words. 10x2=20

1, FHGIIerd el favHeTiors § Irevufad JfaR W &N | 2
Distinguish between Homothallic and Heterothallic conditions
with the help of examples.

2. HG JUSIY] P FAAT BT AMifhd f&F I | 2
Show the structure of human ovum with the help of well labelled
diagram.

3. e RigH W e dfera fewoft fore | 2
Write a brief note on Down’s syndrome.

4. ST AT A T T3 27 AT BN | 2

What do you understand by DNA finger printing? Explain it.
5. SiaeA g | a1 |93 50 A= J8idhedl & 9/ 9aiy | 2

18



10.

1.

12.

What do you understand by Palaeontology? Give the name of
various eras.

0 SITAT TAT TS IIYAY H R 3fAR I | 2
Describe any four differences between B-DNA and Z-DNA.
JTINTST SIYAY UElfia] & Ushd & oRUMdG gHd &l foRkd | 2

Describe the steps involved in the process of Recombinant DNA
technology.

e arRRerfad dF & e &/ gRT g9y | 2
Show pond ecosystem with the help of diagram only.

Slel de[d BT Heel= 9T 87 Hd] &l IuIIAAmsl &l g | 2

What is Gel electrophoresis? Mention any two applications of it.

T I B IO, FhHU P HIRUT, &7 g SUAR & IR H 9dTV |

Describe the causal organism, mode of transmission, symptoms

and therapy of Ringworm disease. 2

TS a7 Uldre! &l aRYIRT &V | 2

Define antigens and antibody.

faifha fgl <1 R Sarexer afed fewoh ford | 2
A. i agg B. ugfaer
C. Wi Savsa D. ufam Suead

Write the short notes on any two of the followings :-

19



13.

14.

15.

16.

17.

A. National Park B. Sanctuary

C. Biosphere reserve D. Sacred groove
fafdcar Ud AMa W@reg | SI9-—URifral & el aR SuARdLll &
IR H ford | 2

Mention any four applications of Biotechnology in medicines and
human health.

f=ifhe R IaTeRvr |fed Heu # ford — 2

A. Sifds @ B. ufomifds

Write in brief on the followings with the help of suitable examples.
A. Biofertilizer B. Antibiotics

ST Uyl & A= SRUl BT Heay # quie o | 2
Explain the various causes of water pollution in brief.

=T TAT BTl BT I—aT I~1d fbel & 9™ qald | 2

Name any two superior varieties, each of sugarcane and

cauliflower.

frifeed fhel a1 WR derg # for — 2
A. 95T Sredd B. Uo=H ey

C. Ao h Fae D. SAUGH—IU9Iadl Feel

Write short notes on any two of the followings in brief :-

A. Vital index

B. Reproductive potential

20



C. Population-Pathogen relationship

D. Producer-Consumer realtionship

18. i fel a1 &I aRvIfva &Y — 2
A. T wR B. uiRRerfas fuxifrs
C. Id% HagHd D. Yor Haed

Define any two of the followings :
A. Trophic level B. Ecological Pyramid

C. Tissue culture D. Embryo culture

e Sa9g 939 (Long Answer Type Questions)

U3 TRAT 19 W 24 db oY SR U 2| 599 I fhsl 3 Al & SR oA
Jfard 21 P U & forv 5 3k HuiRd €1 SR fdedd 120 Isi #§ 89
=T | 3x5=15

Question no. 19 to 24 are Long answer type questions. Answer any 3
questions. Each question carries 5 marks. Give your answer in about 120

words. 3x5=15

19. TORIFN faued | F1 ¥Esd € °? 5

fFrifha &1 |FHsRl —
A. faera= B. fgior C. ufrars
What do you understand by Chromosomal aberrations?

Explain the followings -

21



20.

21.

22.

A. Deletion B. Duplication C. Inversion
frifed ool & SR < — 5
A. URM G T FHYE g & A ford |

B. ufieiRa & 31T a7 FHsId 27

C. Ui ¥yl H IS B RIT qADBT 57

Answer the following questions :-

A. Give the name of Initiation codon and Termination codon.
B. What do you understand by Transcription ?

C. What is the role of Ribosome in protein synthesis?
frfoRad # sfdR W< o | 5
A. DT GRETOT GAT Gell GRITo

B. AMI®Harg qul SIfa-drg

Distinguish between the followings :-

A. Insect pollination and Ornithophily.

B. Lamarckism and Darwinism

fFeifha # gl <1 &1 auie N — 5
A. Ted B. fafe=or ugmor C. fgfv=
Describe any two of the followings :-

A. AIDS B. Radiation Pollution

C. Double fertilization

22



23.

24,

fr=forRaa &1 dael I gRT 90— 5

A. AT HIGT & ST BT UL BIC H Yehl Pl T U AMHIfD

forar 991G |

B. #IMd gyl & AU HIC BT AHIThd = 1Y |

Show the following with the help of diagram only.

A. Draw well-labelled diagram of T.S. of human ovary showing
various follicles.

B. Draw well-labelled diagram of T.S. of human Testes.

feifha # fobgl a1 1 quie & 214x2=5
A. G ST B A

B. eaf< ugyor

C. S fafaferar—vxeor

Describe any two of the followings :-
A. Benefits of micropropagation

B. Sound Pollution

C. Conservation of biodiversity.
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